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EXAMINATION, 2017

INDUSTRIAL ECONOMICS

Time : Three Hours
Maximum Marks : 100

PART - A (@uz-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
[ e s1fard ¥ 1 o v w5 S e v Y st T
Tt gl & o gum ¥
PART - B (@ve-9) [Marks : 50

Answer five questions (250 words each).
Selecting ore from each unit. All questions carry equal marks.

TeIH ThE 8 Uh-Uh I T3 gU, F Ui weq Ff

TIF TR 1 IW 250 W= § 1% 7 B |
[t U F 3T 9uH ¥
PART - C (@ve-®) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks.
% ST A FIT | ek T 6T SR 300 Ve | St T 2|
st v & o A F
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PART - A
{@UE-31)

Answer the following, all questions carry equal marks.

Frfima o o Sihad, et weAl O 31 WA g
UNIT -1
(z=E-1)
(i)  Whatis industrialisation ?
Al T #7?

3 Uxplain economic development.

arfiie Ty =1 AR |
UNIT - U

(z=T3-11)
(it Write present indusirial growth rate.
Ty Sl fass @ e
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(iv )} Whatis localisation of industry ?
TN T T 597 27
UNIT - JH
(gehTS-111)
(v)  Whatis liberalisation ?
TERF TR ?

(vi) Define public sector undertakings.

E GEE SuwEl ) afisnfae sy |
UNIT - IV
(ZTFE-IV)

(vii ) What do you understand by capital formation ?
Uit P =y e 0
(viii ) What do you mean by industrial finance ?

FdfT forg | o o goey §7
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UNIT -V
(FFE-V)
(ix) Give two problems of sugar industry in India.
A H YR TET T 3 weEnd s |
(x) Define labour.
FiHes w1 gftfaa Fifed |

PART - B

(Ers-9)
UNIT - 1
(F=r-1)
2. Discuss the effects of industerilisation in India.
A H SRR & gl 1 e SRR
OR
( 31yaT)
3. Discuss the factors influencing industrialisation in developing
countries.
faeRraeiter <t H SieifiTemu =1 7fad 3 910 Freh! & e
FIfT |
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UNIT - 11

(ZeRTE-11)
Briefly discuss the progress of INdia industries during XII
Plan.
128 s H R s # w w9 ¥ s =i
OR
( &yaT)
Write a brief note on Industrial development under [X five

year plan.

IXdT deaeia A ¥ gu i fomrm w s frmgof fofas)
UNIT - 111

(T=TE-10L)

Discuss the main problems of public sector undertakings in

India.

T W ek 8T SRl Y g wewnel & fade i

5845-C/1720 5 PT.O.



OR
( 3rgar )
Describe present licensing poliey of India.
IRA ! FGAH ST A (nEEes witer) F I TG |
UNIT - IV
(3FTE-IV)
Discuss the role of industrial finance corporation of India in
providing long term finance to industrial sector.
aﬁ%ﬁﬁrﬁ&ﬁmmﬁﬁmwnmmﬁm
(IFCH =1 gfem =1 fag=m =903
OR
( 3teraT )
Discuss the rolc of banks in providing industrial finance.

STt ford wer e 9 el F gftr w1 e aaf
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UNIT - V
(3FE-V)
Discuss the factors affecting production.
ot crb ek i CARECERIEEE]
OR
( 2torar )
Describe the problems faced by cotton textile industry in India.

-

Wi o e o s 5 TRt i ava it )

PART - C

{ GUE-H)

. Critically evaluate the implications of industrialisation on

agriculture industry.

= TEm W AT 3 AT o ST e e

. Analyse industriaf progress during plan period in India since

independence.
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14. Explain present industrial policy of India.
YRE =t A St A Ty

15. Write an essay on problems related to capital formation in

Indian industry.
R SE 8t geit Fratar ) e w o fafed
16. Write a note on trade unions industrial relations.

9§ i gl W) uw feaof fafad )
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